
Mathemania - 2020
Tintin and the Secret of Unicorn

Wild Card

W.1 Problem 1

Let ABCD be a square and BX and DY be two parallel lines such that
XY⊥BX. Also, BX = 12, XY = 3 and DY = 9.
Compute the side length of the square ABCD.

W.2 Problem 2

Compute ∑
1≤x<y<z

1

2x3y5z
, x, y, z ∈ N

W.3 Problem 3

Let F (x) be a k-degree polynomial with integer coefficients such that F (x) =
c0 + c1x + c2x

2 + ... + ckx
k and 0 ≤ ci ≤ 3 ∀ i ∈ [0, 3] ∩ Z. Given that

F (
√

3) = 20 + 17
√

3, compute F (2).
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